%570 MARPFERESHAFTAIEATUERIRFERS

Kk DEB
F450 gERTUAHPIEEFTLEABTXRE
Kk DEB
=15 BERTRIT—L
ER20FE6A22H(R)
T ik 211 3%
—EIEE e [RLUBEE (=&
SomBER 0754007 0:34-93
" EFER(Z2) |BEIBEAMEH1) |KWBHBEF(—H1)
100mBHER 775797 1:16-90 1:19-29
, FHEE(ZH2) |HEME(—Hh2)
200mBER |, 4,063 2:55-12
 |ERREES)
400mBE B 5-01-88
 |ERREES)
soomE iR |10 oo
T BikF(Zh2) FOBFBE(ZH1)
100mFkeE |75 05 2:00-16
T BikF(Zh2) FOBFBE(ZH1)
200mIFRE |70 g 4:03-35
dE s o MHEZTE(EERT) |ZERE(CH2)
100mEAE 11753710 1:24-25
dEa o MHEZE(EERT) |ZERE(CH2)
200mHFHXE  [3750 58 3:00-99
oy = EFER(Z2) |RBME(—H2)
100m/AZI54 11759790 1:34-65
o _ |FEAEECH2)
200mfBEAARL— |57 10085
o |EE =R RE 5 R FH
400m ARL—1L— 30—
o R AR RS RE
400m7")—1JL 51887 | _
TFREH HKBTERLI-T-6. Frittx(EiL

RERHE

ZFEE BRE-RFR(908) XFEER BRE—hFROIR)




BF

CEa 1 — 2l —_ 3L 41
" 2ERS(EE1) (MBZECH) [BEREEX(CZH1)
SOmBER )95 01 0:31-79 0:34-28
" ER)(EE1) (MEBZECH) [(BEBREEXRK(ZH1)
100mBE# |51 09 1:08-66 1:17-49
. [RBE—B—5) |[=EEECHD
200m B 2 2:23-21 3:17-50
100m % E f%%fﬁ’ﬁqﬂm
200m E ik E f\,’fé_‘%ffﬁqﬂm
100m &k = ﬁg%?%f(_q]m
He s, 1?5%%%(_432) 1§2F$1i1,(ﬁ432)
200mHEXE 5 9. 15 2:27-66
100m/ 5754 | EBAE RS [EREAUED
S pym = INAEF (—F3) [#REBRKU\ET)
200m/3ZT54 ) o4 2:30-58
o _ |BREKE(Zd2) |{EEaE(—F2) [EFEXREth(EF2) [REHE—E(—31)
200m{EAAFL 2:14-28 2:28+59 2:35-03 2:45-83
400m B AAR L — HEKRER(Zh2) {EBkmE (—d2)

4:39-86

5:13-83

400mARL—1)L—

BEAL—rh :1?5"%'1&5"%‘7-11\53%-%%?&

4:32-11
400m>")—1JL— fER—dh :1?5%-11\51%.%3;&.1555
4:13-80
S R KPR CoRIBLT=T=8  ARACERIFEL

RERHE

BrEE gRE—PFER06R) BFEEE NS hFR (43R)




